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1. Consider the following statements :

1. The Governor of the Reserve Bank
of India (RBI) is appointed by the
Central Government.

2. Certam provisions in the
Constitution of India give the
Central Government the right to

issue directions to the RBI in public
interest.

3. The Governor of the RBI draws his
power from the RBI Act.

Which of the above statements are
correct?

(@) 1 and 2 only

(b) 2 and 3 only

() 1 and 3 only

(d 1,2 and 3

2. With reference to casual workers
employed in India, consider the
following statements :

1. All casual workers are enti
for Employees Provident, Fu

coverage. \
2. All casual workers are enti

for regular working s and
overtime payment.

3. The govern can by
a notification4f spec that an
establishm oy indfistry shall
pay wages through its bank
acc ?

Which above statements are

correc

2 only

(b)% 2 and 3 only
(c) 1 and 3 only
d) 1, 2:-and 3

BXC-U-FTHI/68A

3. Which among the following steps is
most likely to be taken at the time of
an economic recession?

(@)

(b)

(c)

(@)

Cut in tax rates accompanied by
increase in interest rate

Increase in expenditure public
projects
Increase in tax r ied

by reduction of Mitere rate

Reductio diture on public
project

following statements :

ings remaining unchanged,

arket demand for a good might
crease if

price of its substitute increases
price of its complement increases

the good is an inferior good and
income of the consumers increases

its price falls

Which of the above statements are
correct?

(@)
(b)
(c)

(@)

1 and 4 only
2, 3 and 4
1, 3 and 4

1, 2 and 3

[ P.T.O.
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5. With reference to ‘Urban Cooperative

Banks’ in India, consider the following
statements :

1. They are supervised and regulated
by local boards set up by the
State Governments.

2. They can issue equity shares and
preference shares.

3. They were brought under the
purview of the Banking Regulation
Act, 1949 through an Amendment
in 1966.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

6. Indian Government Bond Yiel

ai
influenced by which of the follo;vix

1. Actions of the Unife States
Federal Reserve

2. Actions of the Bank of
India

3. Inflation rt-term interest
rat :
Select ect answer using the
de n Below.

( 1 and 2 only
(b) "2 only

(c) 3 only

(d 1,2 and 3
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7. Consider the following :

1. Foreign currency convertible bonds

2. Foreign institutional investment
with certain conditions

3. Global depository receipts

4, Non-resident external s

Which of the above c ineludéd in
Foreign Direct Inves ts

(@ 1, 2 an

(b) 3o

(c)

nsider the following statements :

The effect of devaluation of a currency
is that it necessarily

1. improves the competitiveness of
the domestic exports in the foreign
markets

2. increases the foreign value of
domestic currency

3. improves the trade balance

Which of the above statements is/are
correct?

(@ 1 only
(b) 1 and 2
(c) 3 only
(d 2 and 3

[ P.T.O.
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9. Which one of the following effects of
creation of black money in India has
been the main cause of worry to the
Government of India?

(a) Diversion of resources to the
purchase of real estate and
investment in luxury housing

(b) Investment in unproductive
activities and purchase of precious
stones, jewellery, gold, etc.

(c) Large donations to political parties
and growth of regionalism

(d) Loss of revenue to the State
Exchequer due to tax evasion

10. Which one of the following is l&o
be the most inflationary Wects?

(a) Repayment of @ublic debt

(b) Bo in m the public to

f'\C budget deficit

'orrowing from the banks to
finance a budget deficit

(d) Creation of new money to finance
a budget deficit

BXC-U-FTHI/68A

11. The money multiplier in an economy
increases with which one of the
following?

(a) Increase in the Cash Reserve Ratio
in the banks

(b) Increase in the Sta idity
Ratio in the bank

(c) Increase in 5 ing habit of

the peo
(d) Incr% e population of the

Cco

12, eference to Indian economy,
emand-pull inflation can be caused/
creased by which of the following?

1. Expansionary policies
2. Fiscal stimulus
3. Inflation-indexing wages

4. Higher purchasing power

5. Rising interest rates

Select the correct answer using the
code given below.

(@ 1, 2 and 4 only
(b) 3, 4 and S only
(c) 1, 2, 3 and S only

d 1,2, 3,4and 5

[P.T.O.
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13. With reference to India, consider the
following statements :

1. Retail investors through demat
account can invest in ‘Treasury
Bills’ and ‘Government of India
Debt Bonds’ in primary market.

2. The “Negotiated Dealing System-
Order Matching’ is a government
securities trading platform of the
Reserve Bank of India.

3. The ‘Central Depository Services
Ltd.” is jointly promoted by the
Reserve Bank of India and the
Bombay Stock Exchange.

Which of the statements given above
is/are correct?

(a) 1 only
(bj 1 and 2
(c) 3 only
(d) 2 and 3

14. With reference to ‘WaterCredit’,

sider
the following statements : \

1. It puts microfinance #£lodls to work
in the water and s

to et their water needs without
ing on subsidies.
ichy0 e statements given above
1 and 2 only
(b) 2 and 3 only

(¢ 1 and 3 only
(d 1,2 and 3

BXC-U-FTHI/68A

15. In India, the central bank’s function

as the ‘lender of last resort’ usually
refers to which of the following?

1. Lending to trade and industry
bodies when they fail to borrow
from other sources

Providing liquidity .to™ banks

Select
code g£1v,

(ﬁ}nd 2

(b)” 2 only
(cl+2:@nd 3

(d) 3 only

16. R2 Code of Practices’ constitutes a tool

available for promoting the adoption of

(@) environmentally responsible prac-
tices in electronics recycling

industry

(b) ecological management of
‘Wetlands of International
Importance’ under the Ramsar
Convention

(c) sustainable practices in the
cultivation of agricultural crops in
degraded lands

(d) ‘Environmental Impact Assessment’
in the exploitation of natural
resources

[ P.T.O.
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17. Why is there a concern about copper
smelting plants?

1. They may release lethal
quantities of carbon monoxide
into environment.

2. The copper slag can cause the
leaching of some heavy metals
into environment.

3. They may release sulphur dioxide
as a pollutant.

Select the correct answer using the
code given below.

L

(@) 1 and 2 only
(b) 2 and 3 only
() 1 and 3 only
(d 1, 2 and 3

18. With reference to furnace oil, cons
the following statements

1. It is a product of oil reﬁneA

2. Some industries use if t nerate
power.

3. Its use causesfSu emissions
into enviro ;

Which ents given above

are corre

only
2 and 3 only
() 1 and 3 only

(d 1,2 and 3

BXC-U-FTHI/68A 11

19. What is blue carbon?

(@) Carbon captured by oceans and
coastal ecosystems

(b) Carbon sequestered in forest
biomass and agricultural goils

(c) Carbon contained i leutm and
natural gas

(d) Carbon Ee@ atmosphere

re, which of the following

20. In the
i st likely to be found surviving

»surface without soil?

Fern
2. Lichen
3. Moss

4. Mushroom

Select the correct answer using the
code given below.

(@ 1 and 4 only

(b) 2 only

(c) 2 and 3

(d 1,3 and 4

[ P.T.O.
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(d 23R5
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¥
- mq\(b
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21. Which one of the following is used in
preparing a natural mosquito repellent?

(a) Congress grass
(b) Elephant grass
(c) Lemongrass
(d) Nut grass

22. Consider the
organisms :

following kinds of

1. Copepods
2. Cyanobacteria
3. Diatoms

4. Foraminifera

Which of the above are primary
producers in the food chains of oceans?

(@) 1 and 2
(b) 2 and 3
() 3 and 4
(d) 1 and 4

N

23. Consider the following an

1. Hedgehog

2. Marmot *

3. Pangolin K

To reduce of being captured

ich of the above
organi s up/roll up and protects/
;‘oi:‘@their vulnerable parts?
d 2 j
2 only
(c) 3 only
(d 1 and 3

BXC-U-FTHI/68A 13

24. With reference to the New York
Declaration on Forests’, which of the
following statements are correct?

1. It was first endorsed at the United
Nations Climate Summit in 2014.

2. It endorses a global timeline to end
the loss of forests.

3. It is a legally binding ational

declaration.

4. It is endorse overnments,

big comp% d” indigenous
i ASNO of the signatories

(d 2 and 5

25. Magnetite particles, suspected to
cause neurodegenerative problems, are
generated as environmental pollutants
from which of the following?

1. Brakes of motor vehicles
Engines of motor vehicles
Microwave stoves within homes

Power plants

el

Telephone lines

Select the correct answer using the
code given below.

(@) 1, 2, 3 and 5 only
(b) 1, 2 and 4 only
(c) 3, 4 and 5 only
d 1,2, 3,4 and 5

[ P.T.O.



26. Fr=fefaa § & FH-w1 sha s Ot (fhee
Frew) 37

(a) e i (Heftha)
(b) Y (STTFITH)
(c) W9 (3TFRR)

(d) T (Afer)

27. T=fafad Sa sgramafe =t § @ fra, sgm@
F1 LT Tk H AW HA O 9ISk a7 &
Frfes €% %1 gea Ha 87

(@) A TH
(b) ZISH T
(c) THITHRY T3
(d) TR T
28, fififlas & @ ==-a Sfi=
(3zrfear) 27
1. éam

mma"l (ﬁ?ﬁ‘ﬁ%)

O e o O b

m‘l:*‘(
ﬂ%ﬁq o FE IW gAY
1 231%4

*ad 2, 3, 4 35

(c) Faa 1,335

@d 1,2, 3,435
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'26. Which one of the following is a filter
feeder?

(a) Catfish
(b) Octopus
(c) Oyster

(d) Pelican

27. In case of which one of the following
biogeochemical cycles, the weathering
of rocks is the main source of release
of nutrient to enter the cycle?

(a) Carbon cycle
(b) Nitrogen cycle
(c) Phosphorus cycle

(d) Sulphur cycle

28. Which of the following are detritivor:

N

1. Earthworms

2. Jellyfish
3. Millipedes %
4. Seahorses
5. Woodlice K '
Select &nswer using the
code gi elow.
d 4 only

(bR 2, 3, 4 and 5 only
() 1, 3 and 5 only

d 1,2,3,4and 5

BXC-U-FTHI/68A
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29. The ‘Common Carbon Metric’, supported
by UNEP, has been developed for

(a) assessing the carbon footprint of
building operations around the

world
(b) enabling commercial arming
entities around the wi

enter
carbon emission tr s

(c) enabling governni@nts ¥ assess the
overall car tprint caused by
their co

overall carbon foot-
sed by the use of fossil
the world in a unit time

0. Which of the following have species that
can establish symbiotic relationship
with other organisms?

1. Cnidarians

2. Fungi

3. Protozoa

Select the correct answer using the
code given below.
(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

@) 1;-2:and"3

[P.T.O.




31. g1 % wfiy fe <ws A Al & wedf 4,

Fr=fafaa oAl ® fammr fifsw

1. I8 H=a99rd TsE9 & wE-se § Al
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THTE <1 &

4., T fee @ 7 bE uwon s+ 7
g YA HHe 9o & fore SRon-da @1
g1

I FU A A BH-H & 27

(@ 132
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yafea foran

FARE A TR H
STat 917
(@) '%Q

(c) TG

(@) qug
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2.
<55

ﬂ%ﬁmwaﬁm@

' (@) Faa 1

% IWQ}QJ

(d)§ 2

99 % a9 ¥ AR IR el A §
gHdT & IeuH 9 IW 9Rd § F=fRad o
q fom ==l 1 e an?

1. WYFTE
HIEAE1 % TR
TR & TEf
FES % H@h
Zafili % area
agft & T

= fow e g2 w1 W@ W wd W gh)
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(c) 2,334
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31. With reference to Chausath Yogini
Temple situated near Morena, consider
the following statements :

1. It is a circular temple built during
the reign of Kachchhapaghata
Dynasty.

2. It is the only circular temple built
in India.

3. It was meant to promote the
Vaishnava cult in the region.

4., Its design has given rise to
a popular belief that it was
the inspiration behind the Indian
Parliament building.

Which of the statements given above
are correct?

(@) 1 and 2
(b) 2 and 3 only

(c) 1 and 4

N
fog

cient towns
elab@rate system
d management
af sgries of dams and
into connected

(d 2,3 and 4

32. Which one of the fo
is well-known fg

Kalibangan
(c) Rakhigarhi

(d) Ropar

BXC-U-FTHI/68A 17

33. In the first quarter of seventeenth
century, in which of the following
was/were the factory/factories of the
English East India Company located?

1. Broach
2. Chicacole
3. Trichinopoly

Select the correct €My usi the
code given below.

(@) 1 only
(b) 1 and
()58

(dg 2 3

34 om the decline of Guptas until the

rise of Harshavardhana in the early
seventh century, which of the following
kingdoms were holding power in
Northern India?

—

The Guptas of Magadha

The Paramaras of Malwa

The Pushyabhutis of Thanesar
The Maukharis of Kanauj

The Yadavas of Devagiri

st T S

The Maitrakas of Valabhi

Select the correct answer using the
code given below.

(@ 1, 2 and S5
(b) 1, 3,4 and 6
(c) 2, 3 and 4
(d) S and 6

[ P.T.O.



35. gamell w@s IS & IR, feEaR ams 37. fr=fafaa gmi w f=m fifs

¥ wfgard frfafad & & 5 &=t § fago off?
e (Yfeefers Tom) (AR R w W)
: 1. ﬁﬁ'@"! : m%anﬁz
2.  SHAifquemE :
9 aa%gna i Cor i
3. @ “
4, sifersamft
IFw g § A FE-w/ gafera
% e e o 1 T R g RAL
(@ Fad 1
(@ Faa 1, 2 3R 3
: (b) 1aﬂx

3

(b) Fa< 1, 3 3 4 (c) a@
(c) ¥ae 2 3K 4 (“QJR
(d 1,2, 334 68.@@@@14:%%:

1. 3ogatw & WEAEE W, T @F W

ey gas il @ 4 fay ad 9%

36. My W #§ weUg ¥ weo #, T
HH-T1 B TE 7 2. Hee fom gers & yeAEE d, TR A
gead W AR fFan o1 oir fay 5@

(@) mmﬁaﬁ@ﬁmﬁa IR oft|

&1 festg o) 3. foemm wwsw % @ W g %
EAHTA B, Ih g TH WA b a2 W
(b) T } iy &7 # W@ g
form
'”':'Y :::‘ ' e el @ - /-2 wd /A
c) TR 7wl g w1 A § (@ Fad 1
st 7 argane foran)
(b) 132
(d) eH =ETEh qU1 FAA Serhe A qed (©) ¥4 3
et Fel PrEfhea gk w1 geeE
wonfua foam) (d 23Im3
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35. According to Portuguese writer Nuniz,

the women in Vijayanagara Empire were
expert in which of the following areas?

1. Wrestling
2. Astrology
3. Accounting

4. Soothsaying

Select the correct answer using the
code given below.

(@) 1, 2 and 3 only
(b) 1, 3 and 4 only
(c) 2 and 4 only

d 1,2, 3 and'4

36. With reference to Madanap f
Andhra Pradesh, which e of e
following statements is c%

(a) Pingali Ven esigned the

tricolour India® Nationial Flag here.
(b) Pattabhi aiah led the Quit
In nt of Andhra region
‘ dranath Tagore translated
National Anthem from Bengali

to English here.

(d) Madame Blavatsky and Colonel
Olcott set up headquarters of
Theosophical Society first here.

BXC-U-FTHI/68A

. Consider the following pairs :

( Historical place ) ( Well-known for)

1. Burzahom Rock-cut shrines

2. Chandra-
ketugarh : Terracotfa art
(o

3. Ganeshwar facts

Which of the pair
correctly match@
(@) 1 only” N
(b) 1
(c)gmd

2

above is/are

onsider the following statements :

1. It was during the reign of Iltutmish
that Chengiz Khan reached the
Indus in pursuit of the fugitive
Khwarezm prince.

2 1t was during "the reign of
Muhammad bin Tughluq that
Taimur occupied Multan and
crossed the Indus.

3. It was during the reign of Deva
Raya II of Vijayanagara Empire
that Vasco da Gama reached the
coast of Kerala.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 1 and 2
(c) 3 only
(d 2 and 3

[P.T.O.



39. Frfafad Ho W fEm Hifvm

1. @a it SR, Sy @ (3HR)
FEIUSH G A q T 9|

2. ¥d wifw Sfam i gog Man | g8 aa
Tgl 3¢ nfia s fiRemn R

3. Tar § wfa af da HiE AR % 99
&1 IGEH fea s B

I FUEl A | HH-Y T &7

(@) Faa 1 3R 2

(b) Faw 2 3R 3

(c) Had 133

(d 1,233

40. YA 9Rd & 3foem & ded W, f=fafaa
FHUE § A PHE-91/H-0 T8 2/7

1. T S snfa 6 fifae fafy o eik
gy e sifa 6 fafae faftr o)

2. Trmem =geeen #, @ W
S § & wufn W
W GHd &, Tl TAIFT HTET

H TG & IWA & TF TYRR
%1 TE1 F Fohd A | .
3. firme sgaeen R

Hewlt % HYf-Hg

(c) 13R3
(d) ¥ 3
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41. WA 9Ra F 3foem & Haof #, wafa, sfemg

a9 SR = UG A7
42. Frafafaa FuEi ® fEr *

(@) 34y
(b) TEHHR
(c) WA IGHR
(d) <t
1. 1919 % Hi guri #, 21 99
A ot g wfeensit & fog
TR
2. 1985 e e e #,
i ufgensit & fou omfim
1 Yra R T
FAl § Q PH-T1/HA-A TE B/R7
a) Had 1
(b) FaA 2
(c) 1 3R 23H
(d M 13MI&2

43. YRAW 3foe@ § 8 R4, 1942 & Ted W,
fafafad oAl § @ w9-T1 w8 ®7

(@) To 330 Hio Ho TN YR SIS FE
Sfrerr fomam )

(b) TIEE hit TREed FRAA F1 faER
It g § wrRdiEt 1 aftifera 3 %
o foman )

(c) GTa Uidl § HEE wEHed 3 s fem

(@) T 3 v w@n & fidi fog 3¢ avm
T @ Ol SffER Rew 9 swwdE
|9 &l T S|



39. Consider the following statements :

1. St. Francis Xavier was one of the
founding members of the Jesuit
Order.

2. St. Francis Xavier died in Goa and
a church is dedicated to him there.

3. The Feast of St. Francis Xavier is
celebrated in Goa each year.

Which of the statements given above

are correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d 1,2 and 3

40. With reference to the history of
ancient India, which of the following

statements is/are correct?

1. Mitakshara was the civil law for
upper castes and Dayabhaga was
the civil law for lower castes.

2. In the Mitakshara system, the sons
can claim right to the pro
during the lifetime of the fa
whereas in the Dayabhaga Systemn,
it is only after the death o

father that the sons c im right
to the property.
3. The Mitakshara sys als with

the matters relfite the property
held by e\members only of
a family, aS the Dayabhaga

e and female members of
y. g
e correct answer using the
e given below.
(@ 1 and 2
(b) 2 only
() 1 and 3
(d) 3 only

BXC-U-FTHI/68A
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41. With reference to the history of
ancient India, Bhavabhuti, Hastimalla
and Kshemeshvara were famous

(@)-
(b) playwrights
(c) temple architects

(d)

Jain monks

philosophers

42. Consider the followi s ents :

1. The Monta sford Reforms

of 191 @\ended granting
voting . ‘ o all the women
of 21,

rnment of India Act of

of the statements given above
is/are correct?

(@) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

43. With reference to 8th August, 1942 in
Indian history, which one of the
following statements is correct?

(@) The Quit India Resolution was
adopted by the AICC.

(b) The Viceroy’s Executive Council
was expanded to include more

Indians.

(c) The Congress ministries resigned
in seven provinces.

(d) Cripps proposed an Indian Union
‘with full Dominion Status once the

Second World War was over.

[ P.T.O.



44, T A P 30 A oFRa w=he sl aiff
hfoerrer— ai=a %in e’ & dag &7
(a) o TR forn
(b) SETET AEE
(c) WIEAEH FH=E Tieh
(@) W g,

45. THFAH WRd & Heo #, f=fafea § @
- AHR A W Y AR wH A G
A B7
(@) TOHI—ERHR—GT
(b) THR—ITHT—HT
() GI—ITHR—ITH
(d) TEHI—GE—AEHR

46. T ¥ I Tl F w9 ¥ fog Fa v A
Heg 9/, @rmﬁ%m*ﬁﬁaw%m

{ I S @Y
(a) THSEe
(b) FaEA R \
(c) Sutez fommarR
(@) WS g @
47. fufEfie Tia & 3, 9§ @M,
M TR wET fegt = forg
EIGE
(a) 2 AR F 1 F w9
' 1 iy THR F TS & ¥ Y N
wfeam @ # yrEey affa & o=t % &9
|

(@ ¥R fie o (3R Twma amff) &
srfteriiEl & w9 §

BXC-U-FTHI/68A
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48. YA sfoem & dedl #, F=fefaa i 4 @
PH-T1 /A T B/E?

1. TEE U9 ¥ ARSI i s =1 399
3|

2. fooaam e @ Fq T F 39 g1
3. weaEs T F A,

mmﬁﬁwﬁaﬁﬁg
Hra Ry g 2 w1 WM

(@ 132

(b) Fad
(c)

(d)

ﬁam-ma%?

rsre T, AT T A

i wqu, S 7 A T R

() TiE-dm TE ¥ A, W T B oA
i fém #)

I T, e 76 A urdl J
Rl :

50. Fraffad suai w fa=mr fifse ;.

1. JMA% (UNICEF) g0 21 ®Ed &
Fauigi wrguTn e wifva e |

2. vuifrs™ 6 dfaum s # 38 win W@
¢ T Tpawedt # aven @ oft wfdifera
e s

I YAl H A BH-A1/RH-8 T R /8

(@) a9 1

(b) FaA 2

(c) 1 3R 2IH

(d [F@13MmAA2



44, Who among the following is associated
with ‘Songs from Prison’, a translation
of ancient Indian religious lyrics in
English?

(a) Bal Gangadhar Tilak

(b) Jawaharlal Nehru

() Mohandas Karamchand Gandhi
(d) Sarojini Naidu

45. With reference to medieval India, which
one of the following is the correct
sequence in ascending order in terms
of size?

(a) Paragana—Sarkar—Suba

(b) Sarkar—Paragana—Suba

w‘— \’-'— S — WP— —

(c) Suba—Sarkar—Paragana

(@)

Paragana—Suba—Sarkar

46. Who among the following was associate
as Secretary with Hindu Female Scho
which later came to be kno as

’ ; Bethune Female School?
(c) Ishwar Chandra Vi
| (d) L §
47. In the contex %oni India, Shah
Nawaz Khafi, Kumar Sehgal
S

and ingh Dhillon are
rememBgred

(a) Annie Besant

(b) Debendranath Tagore

Sarojini Naidu

. (a) §leads of Swadeshi and Boycott
€ement
| embers of the Interim

Government in 1946

() members of the Drafting Committee
in the Constituent Assembly

‘ (d) officers of the Indian National Army

BXC-U-FTHI/68A
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48.

With reference to Indian history, which
of the following statements is/are
correct?

1. The Nizamat of Arcot emerged out
of Hyderabad State.

2. The Mysore Kingdom emerged out
of Vijayanagara Empire.
3. Rohilkhand Kingdom, w

out of the territori
Ahmad Shah D

Select the correc
code given bel

(@) 1 and @
(b) 2 on ‘

€)=:2
(@)

formed
ied by

r using the

ich ®ne of the following statements
i ect?
Ajanta Caves lie in the gorge of
Waghora river.
(b) Sanchi Stupa lies in the gorge of

Chambal river.

(c) Pandu-lena Cave Shrines lie in the
gorge of Narmada river.
Amaravati Stupa lies in the gorge
of Godavari river.

50. Cosnsider the following statements :

1. 21st February is declared to be
the International Mother Language
Day by UNICEF.

2. The demand that Bangla has to be
one of the national languages was
raised in the Constituent Assembly
of Pakistan.

Which of the above statements is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



51. T B (qaiEesR), e TEERE F

52.

form e form 27

1. Wi F wam FR vl @
FarcaTed war §, g arufe TaEfe
F & T FHN ggfa i g R

2. UHORE TEERE F F IR0 ga f
waual § gfg B wdl ®, T @ a®
1 gftgen worft Fiy § gfdmer 7 S
71

3. iU THERE FR iy A #
HEH @ g9 7, feg T8 &e 8§ wmh
N gl s & dve T R

4. Hed g (dfeam) 6t gon Tt HN #
Fhl mewEpl ®, feg arufe wemfe
Hi Yt won avEs T R

IR fow T F2 F W W Ed W g

(@ 13R3

(b) 1,2 3R 4

(c) Fad 4

(d) 23R 3

‘T dd (YW AEw) F Hed #, ﬁ%ﬂi

FoAl W fEm fifve
1. @ 9 34 sfEw-w

mﬁwm%l&
2.

3. e 'eﬂaa%mﬁ

|
mﬁﬁa-ﬁaﬁ%?
(¢ 1 3R 2
(b)$Faa 2 3R 3

(c) Faa 133
(d 1,23R3
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53. fay 7 womelt & weof #, Frafafaa sw A

F F i it o & et o 5@ A frerd &
< €9 Riy 76 2 frad 21 Frafafas § @ ==
T8 - 2, N foyg T A DD fredh 27

(a) SEIC]
(b) FH
(c) et
(d) qagst @
54. w%mﬁﬁ FAWHE, FONE IR @Y,

&0

() &=
) THER &

(d) & s

55. ﬁqﬁﬁaaqﬁﬁmﬁanﬁﬁq

2.=nrnar—ﬁ
gavian

4. dNYT

g0

I # | FA-H Afeat goff we @ fewad §7
(@ 13R2
(b) 23R 4
(c) 334
(d 13R3

-



51. How is permaculture farming different
from conventional chemical farming?

1. Permaculture farming discourages
monocultural practices but in
conventional chemical farming,
monoculture practices are pre-
dominant.

2. Conventional chemical farming can
cause increase in soil salinity
but the occurrence of such
phenomenon is not observed in
permaculture farming.

3. Conventional chemical farming is
easily possible in semi-arid regions
but permaculture farming is not so
easily possible in such regions.

4. Practice of mulching is very
important in permaculture farming
but not necessarily so in
conventional chemical farming.

Select the correct answer using the
code given below.

(@ 1 and 3

(b) 1,2 and 4
(c) 4 only
(d) 2 and 3 \

52. With reference to ‘palm oilff ider the
following statements :

1. The palm oi
Southeast A

2. Thep isNg ra® material for
some in producing lipstick
a 4

oil can be used to
biodiesel.

is native to

the statements given above
ect?

2 1 and 2 only

(b) 2 and 3 only

(¢ 1 and 3 only

(d 1, 2 and 3

BXC-U-FTHI/68A
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53. With reference to the Indus river system,
of the following four rivers, three of
them pour into one of them which joins
the Indus direct. Among the following,
which one is such river that joins the
Indus direct?

(a) Chenab
(b) Jhelum
(c) Ravi

(d) Sutlejs @
54. With %b to India, Didwana,

Kuc Sargol and Khatu are the

s
.gciers
% mangrove areas
(c) Ramsar sites
(d) saline lakes

55. Consider the following rivers :
1. Brahmani
2. Nagavali
3. Swubarnarekha
4

Vamsadhara

Which of the above rise from the
Eastern Ghats?

(@) 1 and 2
(b) 2 and 4
(c) 3 and 4

(d 1 and 3

[ P.T.O.



56. Trfafad st W feeam A 59. WEETg-gEA P (- TiheR) F

1. A TR R (Ea e FHEE) fore s ) dt % wed #, Freafeleaa we
Fig Sd-am § agz-eE (Hee) R fem i
@ 3R @ % T aEde yem 1. WRd § ‘S-Sl am (TS
2 faw) g, SiwigE  srgHu™
2. WRA A AP -89 § ER-HElE FriFA—Seay dRadd, F T EE
w1 @i % forg wmgdm T T ®)
3. ‘gAw @ @he (R e fiwe)’
Faida S@-89 ¥ R duEd W 2.
I R
Ik ol H § PH- e 27
(@) Fad 1 3R 2
(b) Fad 2 3R 3 3
(c) Faa 1 3R 3
(@d 1,233 Hlo Mo M@o THo To o),
57. Frefifad # ¥ *R-@ wow, FAaw -8 W;::%Tﬁo s Lanalibe
(efre afz-uffe) wae &7
T % Irf ol § @ B2 T #

(b) T (@ Fad 1 3R 2
() = _ (b) Fad 2 3R 3
(@) ¥ (e Tm) \ (c) Fad 133

(@ 1,23R3

58. ﬁﬂﬁfﬁaamqtﬁan
60. ‘‘Th-F2 (dfiw fox) fFeht e e (smam)

g i W%W £ qem § 40 3 ke A o T
7S o8 qhomeey firdt i wag g SEEa Bl R
S ¥ srffes, o= & ffdg wohr F 1A € @

% Wﬁma@ﬁ N R F g A AR (EEE) F FY

& gl G A # TR S % M o wgEeR e e §
: 3 At i Foh et § wE s &) @

T § PH-T1 /-8 19 /87 Topae vl afte i foaw 27
Fad 1 (@) TFUW A
(b) Fad 2 (b) I AT &
(¢ 1 3R 23 () A (FE) ==
(d T@1IAAA 2 (d) SwEHfeatia aufad
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56. Consider the following statements :

1. The Global Ocean Commission
grants  licences for seabed
exploration and mining in
international waters.

2. India has received licences for
seabed mineral exploration in
international waters.

3. ‘Rare earth minerals’ are present on
seafloor in international waters.

Which of the statements given above
are correct?

(@ 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

57. Among the following, which one is the

Y

least water-efficient crop?
(a) Sugarcane

(b) Sunflower

(c) Pearl millet

(d) Red gram
58. Consider the following s nts :

1. In the tropical i western
sections of thegoc € warmer
than the eagfern ions owing to
the influgmge "Of tradé winds.

2. In the %te zone, westerlies

eastern sections of
o s rmer than the western
ecti
i the statements given above
correct?
) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

BXC-U-FTHI/68A

59. In the context of India’s preparation for

Climate-Smart Agriculture, consider the
following statements :

1. The ‘Climate-Smart Village’
approach in India is a part of
a project led by
Change, Agriculture
Security (CCAFS), \
research progr:

2. The project CGAFS is carried

out unde ) tative Group on
Interfigti “Agricultural Research
(CG artered in France.
3. ational Crops Research

e for the Semi-Arid Tropics

(I AT) in India is one of the
IAR’s research centres.

ich of the statements given above
are correct?

(@) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2 and 3

60. “Leaf litter decomposes faster than in any

other biome and as a result the soil
surface is often almost bare. Apart from
trees, the vegetation is largely composed
of plant forms that reach up into the
canopy vicariously, by climbing the
trees or growing as epiphytes, rooted
on the upper branches of trees.” This is
the most likely description of

(a) conifgrous forest
(b) dry deciduous forest
(c) mangrove forest

(d) tropical rain forest

[ P.T.O.



61. T H Tl § foat g SR g4t F Wy
94 ¥ oM B9 &, Feg faega &9 # =6 39
& a9 ¥ W &t A 9 fyewm wmEE:
71 T A FB R & waeE % 50
frifya B 21 e ool freafafaa § @
- &7

1%

2
3.
4
5

forerrrd woft R <
iy
= AT goret woft (EfE)

. e aut
. T H

$9 Ry ¢ g 1 W R wE IR FAU
(@ 13R2

(b) 43R5

(c) 2,334

(d 1,33R5

62. =i TR W 5@ & weof #, Frfefad

1

fem Aifs
et i il | S - <l
e & e 2
&l
i 4
-1 /FA-A qE B/87

(@ AN 13RAA 2
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63. F=fafad oA | femR fifvw :

1%

0

T (VESH 9&8) T Hellar Heraofi 9&
21

el 1 g fem R w st 3@
2

aa # iftremin el @Y & &9

H T i St R '
TRa el 3R A ‘
2l

o @ﬁw:ﬂa‘méﬁ

éu%mm%.

FH-R FE 87

%2 43R5

(b) 3,435

? (c) 133ﬁ14

(d 1,2, 335

64. WA & Fch F@ gal 1 T, Frefafad 3 @
fopmeh aTagmEm 4 g8 R7

(@) ST

(b) T=d (fem) saegEE =gm

(c) ITgE 3R e

(d) I IR FA-TeR

28



61. The vegetation of savannah consists of
grassland with scattered small trees,
but extensive areas have no trees. The
forest development in such areas is
generally kept in check by one or more
or a combination of some conditions.
Which of the following are

conditions?

Fire
Grazing herbivores

Seasonal rainfall

IR R e

Soil properties

Select the correct answer using the

code given below.

(@) 1 and 2
(b) 4 and 5
{c) #2,-3rand 4
(d 1,3 and 5

62. With reference to the watel\ne
llowing

planet Earth, consider the fo

statements :

1. The amount of water
and lakes is
of groundwaf

1 only

2 only
() Both 1 and 2
(d) Neither 1 nor 2

BXC-U-FTHI/68A

Burrowing animals and termites

the amount

of" water in polar
aciers is more than
of groundwater.

Whigh ofgfle statements given above
is/a ect?

29

63. Consider the following statements :

)5

Moringa (drumstick tree) is a
leguminous evergreen tree.

Tamarind tree is endemic to
South Asia.

In India, most of arind is
collected as mingr t produce.
India exp arind and seeds
of magin

\Q of the statements given above

(a)

(b)

(c)

(@)

correct?

1,2,4 and 5
3,4 and 5
1, 3 and 4

Ligh 2eand 5 '

64. The black cotton soil of India has been
formed due to the weathering of

(@)

(b)

(c)

(@)

brown forest soil

fissure volcanic rock

granite and schist

shale and limestone

[ P.T.O.



65, ‘TG (fpifreie) Sl dad’ | wefva 68. TFeft Y T #, | R W @’ T STd

A % R ¥ ded #, Fefafa st = %, o gera: frefafaa # & fm w fok Fa
- fem Hifsr 27
1. o Y ¥ faem § engafie sSifad 1. <& flm 33 =1 e
1 A fo T R 2. STl I ATIHE
2. fameit iR fawmped w1 w@m AmETEs 3. @& H 9R
(37=) % w9 § frm R iR T o A
I Bl A HH-T1/PA-R T 2/E7 : (@) Fae 1 3R 2
(@ *FaA 1 (b) Faa 2 3R 3 &
(b) A 2 (c) ¥aa 1 g3
(c) 1 3R 23H @ 1,23k

(d) FM1IRAA 2

66. gl M F wed #, Frafafad woA
formm Sifs
1. oS % siqum (37 fag) fi=mm @ @
WA A 9. A gEeEe i :
(TR ) iR T % 7 9 Rt hm /arafa mem i daita

69. frafafaa
L.

Tl WM (AEdETgerd fesfe) A Topan s weha @7
Hra-fya @ o § A @ Ut S (@) Faa 1 3R 2
Rl (b) Fad 2 3R 3
2. e dam F gl I e (c) e 1 3R 3
@ ofa: m%w%a (d 1,23R3
mﬁ%mﬁmmﬁ /& 70. Freffan Hor T Frew A ;
(@) e 1 1. TEAEmE § Tha-dag de e To
(b) Fa@ 2 o (fFm) €1 %, st e |
() 1sﬂ12 f3-dg o Wo To T (SfM) B &
(@ = 2. Hi-Hf T THEM TEHETEE % HR
B B, SaH TgH (To Ao Tlo THo)
W@ % HR0 Tl 8l
Ik el § | BH-|1/FA-3 T/ R /R7
(b)) STERE T A FARG FEe @ w (@) e 1
T (b) HaA 2
(c) e e el I © 132
(d) S AR F IR (@ @ 13MMAE2
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65. With reference to recent developments

regarding ‘Recombinant Vector
Vaccines’, consider the following
statements : W
1. Genetic engineering is applied in 2.

the development of these vaccines. 3
2. Bacteria and viruses are used as g

vectors.
Which of the statements given above

is/are correct? (@)
(@ 1 only (b)
(b) 2 only (c)

(c) Both 1 and 2
(d) Neither 1 nor 2

(@)

69. Cons

66. In the context of hereditary diseases,
consider the following statements :

1. Passing on mitochondrial diseases
from parent to child can
be prevented by mitochondrials
replacement therapy either befo

or after in vitro fertilization of egg. (a)
2. A child inherits mitocho (b)
diseases entirely from er@nd
not from father. (c)
Which of the statementsggiven above (@)
is/are correct?
(@) 1 only %
(b) 2 only 3+
(c) Both 1 ay K
(d) Neither 2.
67. Bollg Bollgard II technologies
are fnentjofed in the context of

propagation of crop plants
veloping genetically modified

crop plants (@

(c) production of plant growth (b)

substances (c)

(d) production of biofertilizers (d)
BXC-U-FTHI/68A 31

Select the correct answer

code given below.
1 and 2 only
2 and 3 %

68. In a pressure cooker, the temperature
at which the food is cooked depends
mainly upon which of the following?

Area of the hole in the lid
Temperature of the flame

Weight of the lid

sing the

1 and\3
1, 2

ifle ollowing :
B ria
ngi

Virus

Which of the above can be cultured in
artificial/synthetic medium?

1 and 2 only
2 and 3 only
1 and 3 only
1,2 and 3

70. Consider the following statements :

Adenoviruses have single-stranded
DNA genomes whereas retroviruses
have double-stranded DNA genomes.

Common cold is sometime caused
by an adenovirus whereas AIDS is
caused by a retrovirus.

Which of the statements given above
is/are correct?

1 only

2 only

Both 1 and 2
Neither 1 nor 2

[ P.T.O.



71. 5@ R o 5@ A e e vl @ A 74. faf@ta A (BPA), s fmm &1 FRW R,

ol §, FifH i . Frefofaa § A B TR & wfes & e
(@) @ T fagea & ¥ T TTEHATHH /G 9 o
(b) TE FHI 1 GATH (@) T oe 9 it
(c) o fafdTe o 1 9H I 1 ®
(d) % TGS F1 TH ATHTEE B (b) UifCTHTEE A
72. eF W omEEn % wed #, dfeam afRwd, (c) TRTERREA SXweicre , '
Teto $o Ho afrdl ¥ FoFa e fira €7
qifafeTga
1. Hfemw afwEt vEm #2360 ol # 3= i %
Fdt &, frg Teo S0 o Al A T
Mo , 75. PR ' 3 frem AR
2. 9eH F arwEl % &9 #H, o Fo o ; _
bt A g § afem e A " Y Bk e =
; EaRdITCaes ?
Iy arafy st Bt 'l . " w T S &
3 ﬁ%maﬁ%qwmm@wm‘ ahaE
ol B &, aE oo §o o aferl
mmmﬁmﬁ%aﬁgﬁmﬁ (b) S UM AT T
(e FTeaeS) FaH HLdl ¢ |
T RS H
99 Ry 1Y %2 1 TN R HE TN Q e M o
(@) F9 3 (@) e g
(b) e 2 % ‘
() a1 3R 3
76. @icha gl yem-ad § AW SH F FRO
@ 1’“?"3 frefad # @ - 37
73. ‘ACE2’ ﬁﬁmm%? @ it % e ot o fo i
(@) ] % FoAia  qed # et &)
RISRe) S
v el IwR HEEE WOTEd (b) b fiél %1 e afafda @ g 2
i () T wia Hieht Y #§ e a2
() F el = frme @ % fag e
< SRR (@ vEm H I (wfe) wE THEE Ad
(@) Fomofra T T TER : 2
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71. Water can dissolve more substances than
any other liquid because

(a) it is dipolar in nature
(b) it is a good conductor of heat
(c) it has high value of specific heat

(d) it is an oxide of hydrogen

72. With reference to street-lighting, how do
sodium lamps differ from LED lamps?

1. Sodium lamps produce light in
360 degrees but it is not so in the
case of LED lamps.

2. As street-lights, sodium lamps have o

longer life span than LED lamps.

3. The spectrum of visible light
from sodium lamps is almost
monochromatic while LED lamps
offer significant colour advantages
in street-lighting.

Select the correct answer using

code given below. \

(a) 3 only
(b) 2 only
() 1 and 3 only

(e =1, Zand '3 K

73. The te N %ked about in the
context
a) gépes Ihtroduced in the genetically

d plants

(b development of India’s own satellite
navigation system

(c) radio collars for wildlife tracking

(d) spread of viral diseases

BXC-U-FTHI/68A 33

76. Which one

74. Bisphenol A (BPA), a cause of concern,

is a structural/key component in the
manufacture of which of the following
kinds of plastics?

(a) Low-density polyethylene
(b) Polycarbonate

(c) Polyethylene tere al

(d) Polyvinyé ch®
‘Triclosafl’, idered harmful when

€XPOSE! gh levels for a long time,
is fnostglikely present in which of the
) 110Wi

a) Food preservatives
(b) Fruit-ripening substances
(c)., Reused plastic containers

(d) Toiletries

of the following is a
reason why astronomical distances
are measured in light-years?

(a) Distances among stellar bodies do
not change.

(b) Gravity of stellar bodies does not
change.

(c) Light always travels in straight line.

(d) Speed of light is always same.

[ P.T.O.




77. 1 faflw wiead W enufa doda wda =i
o &, fheg T wiew 3w wisa @ fE
TR fira 27

1. &l 7% fafy-fuio = g9 ?, fafew
ge galgR igar w9y ®, feg wRa #
Tae h fafy-ffo 6t witw ofehifia )

2. WRA #, g6 % fd rfufrm & weiem
# dauiear ¥ Heftd "W =AW
T g EfagE 9 9N 9 2

99 g Ty F2 F WM W T TN AU

(c) 1323
(@ Id1ad2

78. a’qm%a‘aﬁﬁ,ﬁmﬁiﬁaﬂmﬁmﬁw%
m: g7

1. o Murararf ImR affd
oo on for foreft Wt o fomeft

TR IR FA IR HF
fore qofa: ifta feean
2. WU GUR 6 & TE
YR W 9 fawm =
T34 R U % U9 6
I FH-T1/HA- T B/E7
1
(§ Fad 2
(c) 1323
(@ @ 1IAAR 2
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79. YRd % Wlaym * TR gest ¥ Iaia
“Torstan o1 arftreR” wfda R7

(@) JT==3 15
(b) IT=T 19
(c) IF=T 21 *
(d) =T 29 ®®
so.ﬁwﬁiﬁW‘&Qwaﬁﬁq:
T, 1§ HE TE B Sy
. frfl ™ @ 8 gE A dN
W-aﬁa@am%.
. 1991 % &% @1 g # At I e 3

d= o Fafem-ae1 @ gAE a9

3. gaaF Fadl % ogEr, ARk wg v
el U < @ g 8§ w3 Fatea-
&1 A YA edl &, q Iuh T B H
frataq-ga1 % Iu-gAEl F @ I
aifee, f s @reft fFn & awd @@
woft Fafem-aet @ fosreft gom &

I HyAl § A FHA-T/FE-A G /R

(@ FFa 1

(b) HaA 2

(c} 13R3

(d 233



77. We adopted parliamentary democracy
based on the British model, but how
does our model differ from that model?

1. As regards legislation, the British
Parliament is supreme or sovereign
but in India, the power of the
Parliament to legislate is limited.

2. In India, matters related to
the constitutionality of the
Amendment of an Act of the
Parliament are referred to the
Constitution Bench by the
Supreme Court.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2 :

(d) Neither 1 nor 2

78. With reference to the Union Government,
consider the following statements :

1, uly: Gopalaswamy Iy
- Committee suggested at
minister and a secre

designated solely for pursuin

subject of administr, reform
and promoting it.

205 Ty 1970, artment
of Personne \ constituted
on the € ation of
the Adir tive Reforms
Co issi 66, and this was
placé@d unf@lgr the Prime Minister’s
c &

ic e statements given above
rrect?

(@ 1 only

(b)” 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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79. Right to Privacy’ is protected under
which Article of the Constitution of
India?

(a) Article 15
(b) Article 19
(c) Article 21

(d) Article 29

80. Consider the@@statcmcnts :

1. In:Ind e is no law restricting

adidates from contesting in
oflok”Sabha election from three
stituencies.

1991 Lok Sabha Election,
Shri Devi Lal contested from three
Lok Sabha constituencies.

3. As per the existing rules, if
a candidate contests in one Lok
Sabha election from many
constituencies, his/her  party
should bear the cost of bye-
elections to the constituencies
vacated by him/her in the event

- of him/her winning in all the
constituencies.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
(c) 1 and 3

(d) 2 and 3

[ P.T.O.



81. T=fafad wual w fomm fifs -

1. ‘Y& 1 AFR TH GG HEE AUHR
R 9w 3@ wEy ¥, @y g pfeee
(Fo o tfeez) s W g A W
yfeargarait i At Far gl

2. ‘TR F AR TR F TAF Farh @6
TR § gEHe WE R 99" wd
(fem) T wEwt®  "gewifar
Fforpr e B

3. ‘we @ AR’ 1 e 98 ® TR T,
TR I IR st B f e
a1 e glawn | dfed T8 F wwH|

3w oAl § ¥ FBA-A1/HA-Y G 2/87
(@ ¥F@1
(b) %ad 3
(c) 132
(d 233

1. =R feowa w1 ad @
et afeee it @@
SfRgeh 1 gfer # @

e & 7 f6 i@
2. =R A F Ja
$ gafa >
fom TSATS e W Hehd |
$ @ﬁ FH-T1/FE-7 T 2/77
:
(b)% FaA 2
(c) 1 3R 23
(d AN 1IMAA 2
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82. Wd & wed #, fr=fvfaa el
Hifsr . g :

36

83. WRd & wey 1, fafafgs i w fmmw

T :

1. & TH WA AR T F@l 8, @
W F = e 7 7 B s ww,
s 98 3Gh MTUHR H1 AHAT 54 ST
R

2. FRAWIRBASF psiean
¥ o frm &)
Wﬁﬁﬁﬁ%#{ﬂ/@/ ?

(@) Fad 1

(@) TEE, 9 3R STy TREd e
(b) ST TS HATHE
(c) T fomE HaTeE
(d) ST HE HAeE

85. HFA B AP FA F AWA F Fi§ fauE, ;N

et weiua® AYal yeERS WitEE W
sIfeRE @ Eta fawiter 3 R, wRa
¥ dfgum ¥ Fafafaa sig=edt 4 & fraem
IgUA a1 7
(@) T8 14
(b) TSR 28
(c) =% 32
(d) ITTT 44



81. Consider the following statements :

1. Right to the City’ is an agreed
human right and the UN-Habitat
monitors the commitments made
by each country in this regard.

2. TRight to the City’ gives every
occupant of the city the right to
reclaim public spaces and public
participation in the city.

3. Right to the City’ means that the
State cannot deny any public
service or facility to the
unauthorized colonies in the city.

Which of the statements given above
is/are correct?

(@)
(b) 3 only

(¢c) 1 and 2
(d) 2 and 3

1 only

82. With reference to India, consi
following statements :
1. Judicial custody meansN ed
is in the custody of the conce€rned
magistrate and s cused is

locked up in pélic tion, not
in jail.

2. During judi custedy, the police
officer _ of the case is not

errogate the suspect

allo
itho approval of the court.
w ¢ statements given above
is/ ect?
only
) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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83. With reference to India, consider the
following statements :

1. When a prisoner makes out
a sufficient case, parole cannot be
denied to such prisoner because
it becomes a matter of his/her

right.
2. State Government their own
Prisoners Relea P e Rules.

Which of the staffe t
is/are correct?

given above

(@ 1o e
(6) 2o
(c) d 2

Tl nor 2

national level, which ministry is
nodal agency to ensure effective
implementation of the Scheduled Tribes
and Other Traditional Forest Dwellers
(Recognition of Forest Rights) Act,
2006?

(@)

Ministry of Environment, Forest
and Climate Change

(b) Ministry of Panchayati Raj
(c) Ministry of Rural Development
(d) Ministry of Tribal Affairs

85. A legislation which confers on the
executive or administrative authority
an unguided and uncontrolled
discretionary power in the matter of
application of law violates which one
of the following Articles of the
Constitution of India?

(a) Article 14
(b) Article 28
(c) Article 32
(d) Article 44

[ P.T.O.



86. WA Us¥-gaeyl #, F=fafea § @ #A-dt

Ffyed fagwar &, s g% <uidt & &6 3@
wWEY g 27

(@) =ATEUTiTshT Y Tl guiEE R

(b) " H FuRem § dwes @R F
Fatfea wfafaf @ #1

() ¥ vifiea § S TR % faif
yfafft & hd 1

(d) TE AR e g7 FEaE

87. fefufag § ¥ #9-w1 ‘U9’ = # |EWH

w9 A i o 87

(@ =aRAE 1 T A, s fed a
ﬁam%@ﬁrmwﬁwmm%

fam wa1 ¢ 3R e =
HHR & \

(b) T Tafdr qm % Tefae
an, S W WO

G H Y

AR < e ) sifae &

e i
() wgad i g 3 A

0 o R, T

' % WY T A
(d) it g § wrE w9/ ® @
, T = = wiemd o

FT TR ¥ ufa Iater FEaTfern
3R T WA AT &
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88. WA =mute & ded #, Fmfafaa st

Wﬁ?ﬂ'{ﬁﬁﬂ{:
1. WRa % Tgyfa $ qaigafd § 9Rd & J&8

Y N I AWEE ¥ RarHgd
e =iy ) 3= AEed %

Y % G W A IR FE FA T
AR ST FhaT B

2. wRa # feel oft 3=
fofa & gAfdaE &

6 I=aw =EeE %

Fode wo & R @ i
(@) Faa 1

(b) Fad 2
() 1

e
89.% §, frafifes o w faEw
a

# Fad TH & ArRerar 3R T &
rferama B\
St e w9 A ARG |, FEA T8
YA & Gl ¢
g R A & IR IREa 3 R R,
fret oft il § @ so@ dfva =&
o s wean|

IE oAl § ¥ RH-| /PR wE /87
(@) a4 1
(b) HIA 2
(c) 13R3
(@ 23R3

00. Pt & & F-81 Frw fFd TR b

H ardarar 1 qaten guen & faa wxa 8?
(a) T Wit =T

(b) TR T HesTH

(c) Taaifaa TR

(d) WAl 1 gUERY

e

- - -r




86. Which one of the following in Indian
polity is an essential feature - that
indicates that it is federal in character?

(@) The independence of judiciary is
safeguarded.

(b) The Union Legislature has elected
representatives from constituent
units.

> (c) The Union Cabinet can have
elected representatives from
regional parties.

(d) The Fundamental Rights are
enforceable by Courts of Law.

87. Which one of the following best defines
the term ‘State’?

(@ A community of person
k permanently occupying a definit
t : territory independent of ex

F control and  possessing

‘ organized government

(b) A politically organize eople” of
-a definite territory afid Jessessing
an authority to them,
maintain law rder, protect

! their natural ts and safeguard

their me i Sustefance
(c A r persons who have
beerliving in a definite territory
. xr a s long time with their own

, tradition and government

A society permanently living in
a definite territory with a central
authority, an executive responsible
to the central authority and an
independent judiciary

BXC-U-FTHI/68A

88. With reference to Indian judiciary,
consider the following statements :

1. Any retired judge of the Supreme
Court of India can be called back to
sit and act as a Supreme Court
judge by the Chief Justice of
India with prior permission of the
President of India.

eference to India, consider the
following statements :

1. There is only one citizenship and
one domicile.

2. A citizen by birth only can become
the Head of State.

3. A foreigner once granted the
citizenship cannot be deprived of
it under any circumstances.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) 1 and 3

(d 2 and 3

90. Which one of the following factors
constitutes the best safeguard of liberty
in a liberal democracy?

(@) A committed judiciary
(b) Centralization of powers
(c) Elected government

(d) Separation of powers

[ P.T.O.



91. YA dfau™ % 3farid ua +1 Fiwn fHus
IgEA T 87

(@) Gwal F1 AHR
(b) Tsg i ifd & Feers o
(c) T I AHR

(d) AN Tl AU

92. WG ¥ Tufy & aiferwr f T fufy 27

(@) & faftes sifter R, St Faw Fufet i
W ?

(b) % Taftes st &, S foreht oft safe =1
W R

(c) TE & AWHR ¥, N Fa@ AMEH B

ftrR

93. 26 W9ad, 1950
gifaunfyes feufd

m@m

(@)
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94. TIfquTH® TR 1 9 41 87

(@) T g fi wheda @@= A o
yfafafy 'R

(b) S TR, FEF T@ % I AHE
vt &

(c) =1 R, fas wE F

(d) ST ST

I ?
96. maﬂtwwﬁ%maﬁ Frfafeaa
(@ & 7 @ AW AR B, T A o] T R AR

1. WRA 3R 9 EHR, WA & GREUH
¥ g 18 (1) F Aaia IarfeE €

2. a4 1954 # WRYW FhT T w1 gEER H
Fad & 9R Fefea feen mn amn

3. T ad-fadm # swRoE TR A
Hitrram e gie o Hifid 21

I0gth YAl § | -V HE TG 8
(@) Fad 1 3R 2

(b) Fad 2 IR 3

(c) Faa 1R 3 -

@d 1,23R3

) -



91. Under the Indian Constitution,

concentration of wealth violates
(@) the Right to Equality

(b) the Directive Principles of State
Policy

(c) the Right to Freedom

(d) the Concept of Welfare

92. What is the position of the Right to
Property in India?

(a) Legal right available to citizens only

(b) Legal right available to any person

(c) Fundamental Right availabl '
citizens only

(d) Neither Fundamen
legal right

93. What was the @sﬁtuﬁonal status

of India o uary, 1950?

overeign Democratic Republic

icht nor

ratic Republic

(c) A Sovereign Secular Democratic
Republic

(d) A Sovereign Socialist Secular

Democratic Republic
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94. Constitutional government means

(a)

(b)

()

(@)

95. With refe
‘Halbi

a representative government of
a nation with federal structure

a government whose Head enjoys
nominal powers

a government wh
real powers

a governme ited” by the terms
of the Cor@o

o India, the terms
8 Kui’ pertain to

enjoys

forms of Northwest India

(
(b sical instruments

(c

pre-historic cave paintings

(d) tribal languages

96. Consider the following statements in
respect of Bharat Ratna and Padma
Awards :

Jt,

Bharat Ratna and Padma Awards
are titles under the Article 18(1) of
the Constitution of India.

Padma Awards, which were
instituted in the year 1954, were
suspended only once.

The number of Bharat Ratna
Awards is restricted to a maximum
of five in a particular year.

Which of the above statements are
not correct?

(@)
(b)
(c)
(d)

1 and 2 only
2 and 3 only
1 and 3 only
1, 2 and 3

[ P.T.O.
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97. frfafaa Hul W fem Hifs : 09, 323 HiwEela el & wed §, Frfafaa
R woE W faw i
: . Al w1 Mftepis ey aw
rgen Ty of P i (o o WMo Ao o) i ,
A R 2 PRI Y T @ A REw T 7 3R (TR )’ R
# fam ¥ 2020 3@ TR H 7@ TH 2. W e F W =fem, Y af,
# 2 Trealfen, wE qdl AGga
fopan T B
HYH 2 &
el i F wen o dafm w3 F s et & m@ w2 /A v
yfega F 2@ §U FWER F O T b
fore 3w mrran ¥ <A e T R) (@) FaA .
i el 3 e 4, Freffaa 3 & F-a F. (b
we 27

FUF 2, F 1 ) q& AT T 2

(c) Fu 168 R, feg P 2 W 7 ?
(d) mmé‘lﬁ%,ﬁawz\x 100. 330 o Ho e 2w AfEARM & Hev ,

Frafafaa sl ® fer A :

1. siftm 2R # wgE Al S T,
7% T S e A=l f e & ER

(@ ®9 1 3 wA 2 [ E@ § AN : o ort
FYA 2, FUA 1 N GE =TS B
(b)W13ﬁ1W2ﬁFtﬁ§,ﬁﬂ% ) Ad1RAd 2

R T
2. =EldE w1 WM e ¥ FR A, Hilh
I T ) gor # 1 A= Sfa)
IR oA A A BH-H/FPE-R TE /R
(@) Faa 1 :
FoAl § A HA- T &7
(@ Faa13R2 (b) ¥ 2
(b) a2 3R 3 (¢ 13 23F
(c) a1 3R 3
(@ 1,23R3 (@ @ 1AAE 2
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97. Consider the following statements :

Statement 1 :
The United Nations Capital
Development Fund (UNCDF) and
the Arbor Day Foundation have
recently recognized Hyderabad as
2020 Tree City of the World.
Statement 2 :
Hyderabad was selected for the
recognition for a year following its
commitment to grow and maintain
the urban forests.
Which one of the following is correct in
respect of the above statements?
(@) Both Statement 1 and Statement 2
are correct and Statement 2 is the
correct explanation for Statement 1
Both Statement 1 and Statement 2
are correct but Statement 2 is

(b)

not the correct explanation for

Statement 1

Statement 1 is correct
Statement 2 is not correct
Statement 1 is not corre
Statement 2 is correct

(c)
(d)

98. Consider the following tements in
respect of ‘the Laure d Sports

Award which was fhs d in the

year 2000 :

1. American er Tiger Woods was
the firs of this award.

2 The s received mostly by
e’ players so far.
Federer received this award
um number of times
pared to others.

of the above statements are
orrect?
(@) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2 and 3
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99. Consider the following statements in
respect of the 32nd Summer Olympics :

1. The official motto for this Olympics
is ‘A New World’.

2. Sport Climbing, Surfing,
Skateboarding, te and
Baseball are imglu in this
Olympics.

Which of th tatements is/are
correct?

Both 1 and 2

(d) Neither 1 nor 2

100. Consider the following statements in
respect of the ICC World Test
Championship :

1. The finalists were decided by the
number of matches they won.

2. New Zealand was ranked ahead
of England because it won more
matches than England.

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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Penalty for wrong

THERE WILL BE FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIV Q ION PAPERS.
(i) There areMur alternatives for the answer to every question. For each question for which a
wrong has been given by the candidate, one-third of the marks assigned to that

questién will'be deducted as penalty.
2 idate gives more than one answer, it will be treated as a wrong answer even if one of
en answers happens to be correct and there will be same penalty as above to that
quéstion.
(iii) If & question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for"that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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